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Ciio)xeHue 1 BRIYMTAHUE aMEPUKAHCKON JITTHHBI Nwmst:
Pemure kaxayr 3axauy. OTBeTHI
1) 5 ¢pyros 7 moiimos + 2 pyros 10
JIOWMOB = 1.
2) 4 dyros 4 moiiMos + 3 (yTos 9
JTIOMMOB = 2.
3) 5 ¢yros 4 moiimos + 4 GpyToB 5
JIOMMOB = 3.
4) 4 ¢yros 6 mroiimMoB + 2 ¢yros 7
JIFOMMOB = 4.
5) 4 ¢yros 8 moiimMoB + 3 dyros 9
JIOVMOB = 5.
6) 4 ¢yros 1 groiim + 3 GyToB 5 M0iIMOB =
6.
7) 4 ¢yros 8 mroitmoB + 3 ¢yTos 9
JIOVMOB = 7.
8) 5 ¢dyroB 5 mroiimos + 3 dyros 11
JIOVMOB = 8.
9) 3 ¢yroB 7 mroiimos + 1 ¢yt 10 mroiimoB =
9.
10) 5 pyros 1 mroiim + 4 ¢pyTOB 7 qrONMOB =
10.
11) 5 pyros 8 mroiimoB - 3 pyros 11
IFOIIMOB = 11.
12) 4 pyroB 4 aroiiMoB - 2 GyToB 7 MH0MMOB =
12.
13) 2 ¢yroB 5 mroiimoB - 1 Gyt 8 mroiiMoB =
13.
14) 4 ¢pyros 7 mroiimos - 3 pyrtos 11
JIFONTMOB = 14.
15) 4 ¢pyros 1 moiim - 1 GpyT 8 moiiMmoB =
15.
16) 5 ¢yros 10 mroiimos - 4 Gpyros 11
JIOVMOB = 16.
17) 4 ¢yroB 3 mroiiMOB - 2 GyTOB 9 MKOiIMOB =
17.
18) 4 ¢yros 10 mroiimos - 3 ¢yrtos 11
TTIFOMMOB = 18.
19) 5 pyros 1 groiim - 1 Gyt 7 groiiMos =
19.
20) 4 ¢pyros 5 mroimos - 1 Gyt 9 mroiiMoB =
20.
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CnoxxeHue 1 BEIYUTAHUE aMepI/IKaHCKOﬁ JJIMHBI

Nwms: K104 k npaBuJIbHBIM 0TBeTaM

Pemnre Kaxayro 3aaaudy. OTBeTHI
1) 5 ¢pyros 7 moiimos + 2 pyros 10
JTHOHMOB _ 8 ft 5 n/ma/io 678/Ha/no + 34B/Ha/mo L 8ft 5 w/mamo
2) 4 dyros 4 moiiMos + 3 (yTos 9
JTHOHMOB _ 8t 1 s/mamo 52B/Ha/no + 458/Ha/mo 5 81t 1 w/ma/mo
3) 5 ¢yros 4 moiimos + 4 GpyToB 5
JTEOHMOE _ 9%t 9 w/ma/mo 64B/Ha/no + 53B/Ha/mo 5. 9ft 9 w/malmo
4) 4 ¢yros 6 mroiimMoB + 2 ¢yros 7
JTEOHMOB _ T 1 e/ S54B/na/no + 318/Ha/mo 4 7i 1 w/majmo
S) 4 ¢yros 8 mroiimos + 3 dyTos 9
THOHMOB _ R ft 5 s/ua/io S56B/Ha/mo + 458/Ha/mo 5 8ft 5m/ma/mo
6) 4 ¢yros 1 groiim + 3 GyToB 5 M0iIMOB = 7 ft 6 B/ma/no 49B/na/no + 418/Ha/mo
6. 7ft 6 B/ma/no
7) 4 pyros 8 qroiiMoB + 3 dhyToB 9
THOHMOB _ R f 5 n/ma/io 56B/Ha/mo + 45B/Ha/mO 7 8t 5 m/ma/mo
8) 5 ¢dyroB 5 mroiimos + 3 dyros 11
H0HMOB _ 9ft 4 sa/io 658/Ha/no + 478/Ha/mo s 9ft 4 s/mamo
9) 3 ¢yros 7 moiimos + 1 ¢yt 10 groiimos = 5ft 5smamo  43B/Ha/mo + 22B/Ha/mO
9. S5ft 5ms/ma/mo
10) 5 pyros 1 mroiim + 4 dyToB 7 IroNMOB = 9ft 8mmamo  61B/Ha/mO + 55B/Ha/MO
10. 9ft 8 B/ma/mo
11) 5 ¢yros 8 mroiimos - 3 ¢yrtos 11
JTEOHMOB _ L 9 sia/io 68B/Ha/mo - 47B/Ha/TI0 1. 1ft 9 s/ma/mo
12) 4 ¢yros 4 groiimMOB - 2 GyTOB 7 MOKMOB = 1 ft 9w/mamo  52B/ma/mo - 31B/Ha/1O
12. 1ft 9 s/ma/mo
13) 2 ¢yroB 5 mroiimoB - 1 Gyt 8 mroiiMoB = 9 B/Ha/mo 298/ua/mo - 20B/Ha/no
3. 9 B/Ha/mMoO
14) 4 ¢pyros 7 mroiimos - 3 pyrtos 11
THOTMOB _ R B/ra/lo 558/na/mo - 478/Ha/mo 4. 8 B/HA/MO
15) 4 ¢pyros 1 moiim - 1 GpyT 8 moiiMmoB = 2 ft 5 B/Ha/mo 49B/na/mo - 20B8/Ha/mo
15. 2 ft 5 B/ma/mo
16) 5 ¢yros 10 mroiimos - 4 Gpyros 11
JTHOHMOB _ 11 B/na/mo 70B/Ha/mo - 59B/Ha/MO 16. 11 B/Ha/mo
17) 4 pyroB 3 ar0iiMoB - 2 GyTOB 9 mH0iiMOB = 1 ft 6sMmamo  S51B/Ha/mo - 33B/Ha/MO
17. 1ft 6 B/ma/no
18) 4 ¢yros 10 mroiimos - 3 pyTos 11
JTEOHMOE _ 11 B/ua/mo 58s/Ha/mo - 47B/Ha/moO 15, 11 B/Ha/mo
19) 5 ¢yros 1 mroiim - 1 Gyt 7 moiimoB = 3ft 6wmaimo  61B/Ha/mo - 198/Ha/1I0
19. 3 ft 6 B/ma/mo
20) 4 ¢yros 5 moiimoB - 1 Gyt 9 mroliMoB = 2 ft 8m/mamo  53B/Ha/mo - 21B/Ha/no
20. 2ft 8 B/ma/mo
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